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¢l =gl CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORN2ISHAL 4,100,000& * 14 4,100
Ol=&Hl] 3,850
ORA2ISHAL  7,000& = 521 = 110 3,850
202 oddl 4,500 4,000 500
01 = LH o4 1l 4,500 4,000 500
ORN2EESUHA L 20,0003 = 501 = 45¢ 4,500
A8 J=23l 10,968 10,995 AT
201 Let24d] 6,888 6,895 AT
01 AP 2teltl 6,888 6,895 AT
Oflger=&Hl] 4,200
ORAN2E SUAHA 4,200,000& = 14 4,200
Ol=&Hl] 2,688
ORAN2E SUNHA 2,688,000& 14 2,688
202 oddl 4,080 4,100 A 20
01 = LH o4 1l 4,080 4,100 A 20
ORN2Y SAAHY 4,080,000& = 14 4,080
MHatztelg D=3l 12,827 12,947 A 120
201 Let24E] 8,747 8,747 0
01 At 22l 8,747 8,747 0
Oflger=&Hl] 5,387
ORAN2E SUAHA 5,387,000& * 14 5,387
Ol=&Hl] 3,360
ORA2E SHUAHL 7,0008 = 621 = 80 3,360
202 o4l 4,080 4,200 A 120
01 = LH o4 1l 4,080 4,200 A 120
ORN2Y SAAHY 20,0003 * 69H » 34 4,080
MRS (HP) 331,402 123,200 208,202
RSN 331,402 123,200 208,202
K LH & 331,402 123,200 208,202
311 X+ S 01 Xk & & 1,402 13,200 A 11,798
04 XILHS A0l Xtat & 1,402 0 1,402
OZHAL HHl 712 XJ|4&& 0l X (2017 1€ 31
o) 1,402,000& * 14 1,402
601 XL SAS&E 330,000 110,000 220,000
04 XNLHEHSHE 330,000 0 330,000
OZ &AL ZHIJ13 &3 o1&
330,000,000& * 14 330,000




